Mathematics Resridissibicor Exercisas

Using the 4 Lluadrants
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ALl answers to 1 decimal place.
Find all possible values Ffor =° in the interval DI n<R&0"
for each of the following:-—
a)l sitnx°=0_.707 b)) Cosx*=0.707 c¥ tanx*=0.577
(=} cosx*"=0.5 =) Sinxk*=0.5 Rae tanx*=0.9
(= tanx®*=28.636 (i sinx°=0.996 i cosx"=0.4643

Given that 0"<{x<340°, find all possible wvalues +or x e

e sinNxX*=—0.707 ) cosSx =—0_707 (9] tanx®=-1

= Cosx°=-0.423 e) SinNx*=—0,948% £ tanx*=-2.747

=] sinx°=-0.25%2 R} cosx*=—0.374 i) tanx*=—0.83%
Using the same interval as before, find all possible values

for =x*° j3-

anl sinxk*=0.174 b cosx*=—0.80% ) tanx®*=1.455

[= sinx®=0 e) casx®= €23 tanx®=0

g sinx®= ny tanx*=1/3 iy cosx%=—1

Write dowrn the exact value For sin&s0®, cos30o° and tan&0”

using the triangle below;—
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